

## 12743 164TH CT N, JUPITER, FL, 33478

https://ritterproperties.com

This recently renovated home has much to offer: Main home, a guest house, pool, detached workshop (20×25), and solar panels. Situated on 1.55 acres with mature trees and impressive landscaping this home is quiet and private while still easily accessible to restaurants, shops, parks and highways. Upon entering this home, vaulted ceilings and sliding glass [...]

- 5 beds
- 3 baths
- Residential
- Single Family Residence
- Active
- 3463 sq ft

## Basics



Date added: Added 4 months ago Type: Residential Bedrooms: 5 beds Half baths: 1 half bath Area: 3463 sq ft SubdivisionName: Jupiter Farms GarageSpaces: 3 ListAOR: Miami Association of REALTORS®

Category: Single Family Residence Status: Active Bathrooms: 3 baths Total rooms: 10 Lot size, sq ft: 67518 sq ft ListOfficeName: Real Broker LLC View: Garden, Pool MLS ID: A11700692

Rooms



Room type	Dimensions	Area	Length	Width
Kitchen	15.8 X 9.6	151.68	15.8	9.6
SecondBedroom	13.4 X 11.8	158.12	13.4	11.8
FamilyRoom	12 X 15	180	12	15
Den	15 X 16.5	247.5	15	16.5
DiningRoom	13.1 X 11.8	154.58	13.1	11.8
FloridaRoom	19.8 X 17.11	338.778	19.8	17.11
LivingRoom	25.4 X 15	381	25.4	15
ThirdBedroom	12.4 X 11.4	141.36	12.4	11.4
FourthBedroom	15 X 14.6	219	15	14.6
PrimaryBedroom	15.8 X 12	189.6	15.8	12

## **Building Details**

Cooling features: Central Air, Electric ArchitecturalStyle: Detached, One Story Building Name: Jupiter Farms Roof: Metal Roof Parking: Driveway, Rv/Boat Parking, Slab/Strip Year built: 1989 NewConstructionYN: No Exterior material: Frame Heating: Central, Electric



## **Amenities & Features**

<b>Features:</b> Built-in Features, Closet Cabinetry, Cottage, Den/Library/Office, Family Room, French Doors, Great Room, Maid/In-Law Quarters, Pantry, Separate Guest/In- Law Quarters, Split Bedroom, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s), Workshop	Security Features: Fire Alarm	
<b>Amenities:</b> Dishwasher, Disposal, Dryer, Electric Range, Electric Water Heater, Microwave, Refrigerator, Washer	CommunityFeatures: Horses Permitted	
WindowFeatures: Complete Impact Glass, Impact Glass	<b>ExteriorFeatures:</b> Lighting, Fruit Trees	
PoolFeatures: In Ground, Fenced	Waterfront available: No	
GarageYN: Yes	AttachedGarageYN: Yes	
CoolingYN: Yes	PoolPrivateYN: No	
FireplaceYN: No		

